Traditional Method

This method requires you to go step-by-step, in order, with potential regrouping.



987


         X    5




FIRST – Multiply the ones digits (5 x 7).  The ones digit from your answer goes into the 



ones place under the problem while the tens digit is written above the 8 in the tens place.




SECOND – Multiply the tens digit by the ones digit (8 x 5).  After multiplying, you add 



any digits that were written above from the previous step.  You then write the ones digit 



under the tens place and write the tens digit above the 9 in the hundreds place.




THIRD – Multiply the hundreds digit by the ones digit (9 x 5).  After multiplying, you 



add any digits that were written above the hundreds place in the previous step.  You then 



write the ones digit under the hundreds place and write the tens digit above the thousands 



place.  Since there is no thousands place, you can then write that digit under in the 



thousands place in your answer.

	Step 1
	Step 2
	Step 3

	        3   

     9 8 7
  X      5
           5


	     4 3   

     9 8 7

  X      5
        3 5


	  4 4 3   

     9 8 7

  X      5
  4 9 3 5




Multiple Area Model


This method requires you to draw a rectangle that has the measurements given in the problem, multiply 
to find the areas of the smaller rectangles that you create, and then add the products together.



987


         X    5




FIRST – you draw a rectangle 987 by 5.  You then divide the rectangle into 3 pieces 



(hundreds, tens, and ones).  So, you now have 3 smaller rectangles, one that is 900 by 5, 



one that is 80 by 5, and one that is 7 by 5.




SECOND – Multiply to find the areas of the 3 smaller rectangles (900 x 5, 80 x 5, and 7 x 


5).



THIRD – Add the products together to get the answer to 987 x 5.









987





         5








900


+
   80
   +   7




Add them all together and you have, 4500 + 400 + 35 = 4,935

Place Value Model


This model allows you to focus on just the math facts needed to solve the problem while multiplying by 
multiples of 10.



987


         X    5




FIRST – Write the expanded notation of 987 (900 + 80 + 7).




SECOND – Multiply each part of the expanded notation by the 5 (900 x 5, 80 x 5, and 7 



x 5).




THIRD – Add the three products together to find the product of 987 x 5.

	Step 1
	Step 2
	Step 3

	         

900 + 80 + 7
	   
     900   +   80   +   7

   X   5      x  5     x 5  

   4500  +  400  +  35
	 
     4500

       400

  +     35
     4935


Lattice Method

This method allows you to focus on the individual facts as well.  This method can be used to do math 
facts as well as LARGE digit multiplication.



987


         X    5






9

   8

         7

	
	
	





FIRST – multiply each digit of 987 by 5 and write the answer in the divided boxes with 



the tens digit on the upper portion of the box and the ones digit in the lower portion of the 


box.  If there is no tens digit, place a zero on the top portion of the box (9 x 5 = 45, 8 x 5 



= 40, and 7 x 5 = 35)




SECOND – add diagonally and write the sums below the boxes.  The 5 in the bottom 



right adds with nothing to get 5, the 3 + 0 gives you 3, the 4 + 5 gives you the 9, and the 4 


in the top left adds with nothing to give you the 4.



THIRD – write the digits in order as they appear and you have the product of 987 x 5, 



which is 4,935.


	
	
	


Multiply the ones by the ones, 7 x 5 to get 35.  Carry the tens digit





Multiply the tens by the ones, 8 x 5 to get 40, and then add the 3 you carried, to get 43.  Carry the 4.





Multiply the hundreds by the ones, 9 x 5 to get 45, and then add the 4 you carried, to get 49.  Since there are no more places to the right of the hundreds place, you can write the 4 as part of your answer. 





900 x 5 = 4500


Multiply the 9 and 5 to get 45, add the 2 zeroes to the end to get 4500





80 x 5 = 400


8 x 5 = 40 and add a zero to get 400





7 x 5 = 35


Since it is in the ones place, you just have 35 





Rewrite 987 into expanded notation.





Multiply each part of the expanded notation by the 5.








Add the three products together to get the actual product of 987 x 5 .





5





4





5





4





0





3





5





4





9





3





5





4





Blank Lattice boxes


























